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The Sayfoh is by a hook and a rope - RINo11 RNoHY INNNK KOO

Overview

The mwn stated (in the Xw*7) one who throws something and reminds himself before
it landed and either a dog or someone else grabbed it, he is 7v5. The 71wn concluded
(in the X5°0) that one is not 217 a NXYM unless he was a AW from the beginning to
the end, but not if he was a 71 at the end. The X ) explained (to avoid the
contradiction between the X1 and the &5°0) that the X5°0 is discussing a Xin ) XN,
meaning that the object is tied with a rope and he can pull it back.
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However, the X241 is discussing without a Xin>21 XnoY therefore he is 2’1 even if he

reminded himself provided that it landed properly and it was not caught by a 293, etc.
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And the same law applies in the X2 that even if he did not remember, he is

nevertheless T1up, since a dog caught it or it was burnt, so it did not land where he

intended it to land -
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And the reason the 71w» mentioned that ‘he remembered’, is to inform us that
even if he remembered (so now he is not a 22W), nevertheless he is 912 only if
7DWI IN 292 uvp, because it did not land where he intended -
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However if it landed he is 2997 even if it was 201,

Summary
The X1 teaches that even 1f 1211, he i1s still 2>17 if 1t landed as he intended.

Thinking it over
Seemingly >"wA said this? what is Moo adding?!?

!'He is 2n since he has no way of retrieving the object (once it left his hand) it is as if he already did the entire 73877
when he threw it. The 7n1m 7Py (and the nX¥17) were all done when he threw the object. The "5 of 75711 (When it
was M) is only by Rin 1 &n3%, for in that case the 79897 is not completed until it lands since he can retrieve it and
prevent it from landing.
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3 See (1) n Yw naw.
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